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(DSubtact the square longerside of triangle from the square of shoterside. . . .
(@Add remainder to the square of the base. 10 = 8 + 6 /ARKYDIID
@This sum divided by twice the base. S S N
@We can know the longer base. , ] O
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For example, we think of the diameter of a circle of 10cun diameter as a hypotenuse of —es
a right-angled triangle. ‘ /\ <
We draw up and down 1cun perpendicular lines from the midpoint of the arc of the 5% — 102
chord. A
When we think of the other 8cun as a longer side and calculate the shorter side, 8° + 9 X 4 = 102
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square of the longer side. - 54 4
If it be so, when we take the length of the square of the longer side from the square of RITD4=>—=4%F
the arc, the other things left quadrilateral around is the square of the chord of the arc. ) o .
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diameter is dividing the twice chord by the four times arrow. 1% - J2#% Horikoshi
You should use right figure to answer this question. o _ - MAAS
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MBRSND. Our math ability had improved because these

We need flexible thought to solve question 1
because 1t necessary to think about diverse

point of view. BIE BSO Sekiguchi

difficult problems.




